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Modeling the Transport Selection for Estimation of the
Effect of CO2 Emissions-Reduction
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Background of global warming, Japan sets the goal of emission reductions of CO2
to 25% below 1990.

=We estimate the reduction of CO2 emission in Yokohama City.
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We propose the method to assist changing from car to other transport assist the
Japanese goal in Yokohama City.
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|dentify the Target
Fundamental Aggregate Analysis ~Travel Distance~
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40% of all the travels are less than 5km (Car users) —The possibility of changing to walk or bicycle.
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60% of all the travels are less than 5km (Car users) —The possibility of changing to train.

The result of aggregation travel distance for the level of each travel dizstancez
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|dentify the Target

Fundamental Aggregate Analysis ~Travel Distance for each Travel~
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90% of all the travels are over 5km (Car users to work)

— Great effect are expected if the travels change to train.

The result of aggregation travel distance for each purpose
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The model for transportation choice in
commuting

Utility function

UiaimV, + &, = a(time) + b, (fare) + c,(accesee distance) + d,(rash hour)
+ ¢, (difference of elevation) +b, + &,

U=V, + &, = a,(time) + b,(fare) + ¢, (accesee distance) +d, (rash hour)
+b, +¢&,
U=V, + &, = a,(time) + b, (fare) + b, + &,

Selection probability
Pn (I) — 55ni eXp (/uvnl)

Z5nj eXp(ﬂan)
j=1

e |={12,3}
{0, :usability |1,0} bus car train
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The Number of people who change from car to train
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The effect on redaction of C02/person

- 81[kg-CO2/A]
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Change from car to train[g-CO/person*km]
-BEIENCBKRENEGTOADBEER X [REfA = 81[ke-CO2/A]

distance of car X [g-CO/person*km]
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Thank youl!



